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A No. 11 No. 12 R A HbL A No. 11 No. 12 No. 11 No. 12 No. 11-1 No. 11-2
0. 5m <0. 001 <0. 001 e 0. 001 0.001 160 25 360 100
1. Om <0. 001 <0. 001 1. Om 0.003 <0. 001 25 <15 44 <15
Eg 2. 0m <0. 001 <0. 001 Eg 2. 0m 0.001 0.001 <15 <15 <15 <15
{”; 3. Om <0. 001 <0. 001 {”; 3. 0m 0.001 <0. 001 <15 <15 - -
3. 2m - <0. 001 3. 2m - 0.001 - <15 - -
4. Om <0. 001 <0. 001 4. Om <0. 001 <0. 001 <15 <15 - -
B T BRAE 0. 001 E R TRRE 0. 001 15
if%%%ﬁ% 0. 01LLF if%%%ﬁ% 0. 01LLF 15080 F
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AHAIH H

KA (mg/L)

A P e
R A AR No. 11 No. 12
No. 11 <0. 001 <0.001
No. 12 <0. 001 <0.001
E & FRAE 0.001 0.001
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